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(a) Find J. tan’ x dx.

)
(Total 2 marks)
Question 2
3
f(x)=—+=-Tx?
( ) X x
(@) Find | F(¥)dx
(3 marks)
9
(b) Evaluate ,[ 4 f(x ) dx . giving your answer in the form m+nln p  where m, n and p are rational
numbers.
(3 marks)

(Total 6 marks)
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Showing all steps, find I cot3xdx
(3 marks)

(Total 3 marks)
Question 4

(i) Find Jln{‘j“} d .
4

T

2

(i1) Find the exact value of I sin®rdx .

x
4

(Total 9 marks)
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(a) Show that tan* x =sec’ xtan’ x+1—sec’ x .
(4 marks)

S
(b) Hence find the exact value of Jo tan” xdx .
(5 marks)

(Total 9 marks)
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(a) Show that  cos7x +cos3x = 2cosSxcos2x by expanding c0s(5x+2x) and cos(5x—2x) using

the compound-angle formulae.

(b) Hence find I(cosSx cos2x) dx

Question 7

Find J‘ms2 6xdx

(3 marks)

(3 marks)

(Total 6 marks)

(5 marks)

(Total 5 marks)
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Given that k€ Z*
3k 2 o
(a) showthat RGE3) dx is independent of%, “

\vJ

2k
(b) showthat md.wc is inversely proportional to .
£ &)

(Total 7 marks)



